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AE (R - EEK) (L] 5k |smiE 510 (RBEA&RWCE) F£4[0  [azmarse|@F (6 0%) 4
BZE (MK - BHEK) wE 5k |5 BE (BRKEES) F 4 BEREREC|EF (1209 4
BE (GEMEEK - EEKR) miE 6f |6mME BE (RKREERS) £ 400 BERBRAC[ER (120%9) 4
AE (EMEK - BER) g TR [7HRE BE (BRKREES) £4[ WEREBST [BF (1209) 4
j:‘_i (REMEER - TRER) S ER B1fg [UNEY KEEE 1[0 BEREREE |EF (6 09) 1
BE (R - EEK) e B 1R [#H BFEXEUS (BRATS) £ 48] BERERAT B (604 4
BE GEMK - BER) e B 1F £/ HFEREUS (BAKES) £ 4 [ BERARST B (604) 4
BE (B - EEK) 3 1R |[hRBRER US (A=w kv T-) 4 4 [F] RENERST B (609 4
A= (EMEK - IMER) 5} A Y- ET;: BE F4E |[sEnERSC|EF (6 0%) 4
E (BB - BEER) EE] 1B H*H LFERES (RKAEE) F 40 AERERSC|ER (6 0%) 4
BE GEMK - BERK) it 2k [2FE 203 (BRZKWCE) F4[0 BERERET |EF (609) 4
AE (MR - BEK) it 2k |24 204 (BRRWCE) F£ 40 pERERST B (604) 4
BE (EMK - BERK) EiE 2B [27miE 205 (BE7RWCE) FE4MH BEREREST |EF (6 05) 4
AE (B - BERK) i 2/ (2@ 206 (BHZ<WCE) F4[m BEREREST |EF (6 04) 4
BE (EEE - BEK) B 2k |27 207 (BHZWCE) £ 40 BmERERST B (6 0%) 4
BE (GEMEE - EEKR) [iaid 2B (2% 208 (Bif<WCE) 400 BAERARST B (604) 4
BE (MK - BEE) [l 2B (2% 209 (BRfWCE) £ 4@ AERARST|EFR (604 4
BE (GEME - BER) L] 2Rk |28 210 (BRKWCE) F 40 AEREREST BT (6 04 4
BE (GEMEEK - BER) EiR 2k (2B 211 (BZRWCE) 40 AERBRET BT (6 04) 4
BE (GEMEER - THEK) L] 2k (278 212 (f&RNCE) 40 wERRmas|EF (604) 4
A (MK - EEE) Ll 25 |2%ME 213 (BE&RWCE) £ 4 [a] BERARSTC (B (6 05 4
BE (GEMERE - BER) L] 2/ [2F& 214 (BE&KWCE) £ 40 wERERSs Bl (604) 4
BE (HBEE - BEK) iR 2B  |2%mH 215 (BRWCE) £ 40 BERERST B (605 4
BE (M - BEK) L 2R [2FE 216 (BERWCE) £ 4@ AERRRSE|EF (6 04) 4




EHER 1
25 29 |\mw | wEe HELH A i wu | BH9 | Reon |20 | say em| Az
27 B i E = B | Ges | M@ | A |@E| @
BE (MR - HERK) Bt 2/ | 2FE BE - BRKRE FE 40 AERERST |EF (6 04) 4
BE (EEK - BEK) L] 20 (25 BE - BERE2 £ 4 AERERET | (604) 4
BE (HEMRK - BEK) Ll 3 |NICU EMRIEE (USET) 400 WERERSC BT (6 04) 4
BF (SR 153 ARG BT (2707 BHES) ) F2m 68.140 [100ni 1 ELY 2
BT (GEMEER - FEK) Pt B 1R [hRABRER EIRATE F£1[H 24.400 [100mi 1 [@% Y 1
BT _(GEMEER - EK) e B1R [hRBREH BIE 1 £ 1[0 8.900 [100mi 1 @Y 1
BT (GEMEK - BEK) s B 1R [PRREH BIZE2 F£1[0 6.200 [100m 1 @M%Y 1
ERF_(GEMEER - EK) Pt B 1R [REEHEM RIEERIE N 6.600 [100mi 1 @Y 0
BT (GEMEK - BEK) e B1Rs [RBEEEH EREERIE N 12.400 [100mi 1 @ZY 0
BT (MK - BEK) s Bi1R |#8 BF (£707-) £1E 183.200 [100mi 1 @4 Y 1
BT (GEMEER - FREK) i 10 |NEgE RRBER=E £ 26 25.100 [100mi 1 @%4 Y 2
BT (GEMEER - TREK) wiE 1B (X8 BT (£7207—) #2A 214,000 {100ni1@ELY 12
BT GEMEK - BEK) ] IEES: BF (£27207-) 25 235.890 [100mi1@HY 12
BT (GEMEER - FEK) bt P ES: BT (£207-) £ 2H 253.360 [100mi 1 @% Y 2
B F_(BEMEER - FEER) Pt 3K |3mEM BF (£207-) F4[EH 380. 300 [100mi 1 @& Y 4
BT (MK - FWEK) s 4B (4l BF (£207-) F 4 380. 300 [100mi 1 @Y 4
BT GEMEE - BEK) s 4B |4%mE BF (£207-) F4[E 380.300 [100mi1@HY 4
BT (GEMEK - BEK) B 5 [5@E& BT (£207-) £ 48 380. 300 [100m 1 @ Y 4
ER T (EYEER - TEEE) bt SR [5HEHE BF (£287-) £ 400 380. 300 [100m 1 E%4 Y 4
BT (GEMEER - BEK) B 6l [6mEiE BT (£207-) F 400 380.300 {100 1[E% Y 4
BE T (EMEER - BEK) e 6l  |6mi BT (£7207—) F 400 380. 300 [100ni 1 [@EH Y 4
BT (BEMEER - FEEEK) Rt 7B |7 RE BF (£707-) £ 4[H 380. 300 [100mi 1 @Y 4
BT (GEMEEK - BHEK) et TR |75E BT (2207-) F£4H 380. 300 [100mi 1 @H Y 4
BT (GEMERK - BEK) eI B1f R BIZE 1 £ 2[a) 6.900 [100mi 1 @Y 2
ER T (BEMEER - EEK) 5 E4E B1l EB BIE2 £ 20 4.500 [100m 1 @EHY 2
ERF_ (GEMEK - BEK) LES: ] B1R [ER BIZE 3 £ 2 [ 4.600 [100ni 1 [@% Y 2
BT (MK - BEK) e 3 B1Rs |£H ZFEREE £ 1A 2.800 [100mi 1 EH Y 1
BT GEMEK - BHEK) S\ ERE B1 [£8 BT (£707-) £ 26 229.080 [100mi 1 @& Y 2
BT (GEHEK - BEK) HNEH B1Rs [#H BT (#207-) F2[@ 63.690 [100mi 1 [E% Y 2
BT (GEME - BERK) SNER 10 [PRBREH MEENE £2[H 3.200 [100mi 1% Y 2
BT (GEMEK - BEK) SLER 2k |HA BF (27287 #8 518.900 [100mi1@HY 12
BT (HEMEEK - BEK) LE3E] I ET: BT (£7207—) 2A 335.910 [100mM 1 EI% Y 12
BT (GEMEEK - BERK) eI 3B |HR BT (£787-) £ 2[6] 173.800 [100ni 1 @HY 2
BT (GEMEER - FRER) B IENES:] BEl (FKE) £ 20 2.800 [100m 1@HY 2
BT (EMEK - BEK) B 28 |2%E EREE (f1E) £ 1[0 7.756 [100mi 1 E% Y 1
BT GEMEK - BEK) i 2B |2FE BF (27070 £8 256. 800 [100mi 1 @24 Y 12
BT (GEMEK - BERK) L PEEET: EYERT (R #A 69. 300 [100n 1@ Y 12
BT (MK - EKK) iR 3 |NICU ETES] £2[0 13.500 [100mi 1 B2 Y 2
BT (GEMEER - EKK) B 3B [NICU FIEY] & 20 13.422 [100m 1 E%4 Y 2
BT (GEMER - BEK) i 3 [NICU B3 &2 22.736 [100mi1 @XY 2
BRF_(REMEER - TREK) [GLE 3 [NICU EVii-MBITE= F2H 10.400 [100ni1 EZHY 2
BT GEMERE - BFEK) L 3 [NICU NICUBTZ1 £ 20 15.600 [100m 1 @HY 2
BR T GEMEERK - BEK) L 3 [NICU NICURTZE2 £ 20 7.040 [100n 1 @M%Y 2
BT (GEMEK - FEK) L 3B &R EYERT (FEig) #8 143.100 [100m 1 @HY 12
BRF (M - BEK) [LE I ES:] BT (&2707-) 24 275.000 [100m 1 @% Y 12
21,677 188



